Task1
March 2015

'Pfelimin_ary HSC

Mathematics

General Instructlons
Working time —- 45 I%mutes
Write using black or blue pen
Black pen is preferred
Board-approved calculators may be used
Answer questions 1 — 6 on the answer
- sheet provided . '
Answer questions 7 and 8 on the paper
-provided
. Start each question on a new page
Show all necessary working in Questions
7 and 8

Total marks - 34

Section I '

6 marks

e Attempt Questions 1 - 6

¢ Allow about 10 minutes for this section

| Section II

28 marks _
o Attempt Questions 7 and 8§
e Allow about 35 minutes for this section
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Section I (6 Marks) __—

Attempt Questions 1 -6
Allow about 10 minutes for this section,
Use the answer sheet for Questions 1 — 6.
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Section IT (28 Marks)

Attempt Questions 7 and 8

Allow about 35 minutes for this section. :

Answer each question on the writing paper provided.

Start each question on a new page. - .

Your responses should include relevant mathematical reasoning and/or calculations.

- Question 7 (14 marks) Start on a new page

}a’)’ Express 123 asa fraction.

ﬁg Write 2 with a rational denominator.
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/)/ ‘Simplify V32448 by expressing it in the form A2 )
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Question 8 (14 marks) Start a new page

@ Solve the following equations:

V (’!‘.x : : ! -
' 5% +10x=0 NN | 2
AT - WY
oy 3 -8x-11=0 2
S 30 - 500 T
T SR
2
}1)’ Expand and simplify (3x+2)(x—5). Bxl ~ {x. - 2
3T = 3L —WOK ~\O AN = 18 A -
< 3L Om 10 L= 2 LA-F)+L -9

(- 5 (3x<2)

. 2 2

}i/ Simplify * T X2y X 67"7.
X X —0X-—

oun Ly X O

XOA AN
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/( . Solve the simultaneous equations givirig values for both x and y:~ 3
xy=38 |
y=x+2
" End of Section IT
End of Assessment
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Section T

Mutltiple-Choice Answer Sheet
Circle the answer of your choice.
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o QuASTION B
OS5 AOX Y
Sy (X« 2) =0
kS =0
X =0

CNSE PSFLY

-

-9 4 8- 4 (3,40

347V = 733

1%

(L

.
S 734

 bp f-r.;zr(s. B"l %@/Z.ASIQI__:__

] _@_;_ww—ume%\ R S A S
- 6 o o
I - W b\\ +t\., 7 _ )
oyt a0 R *
I 2 . o o N
: § A\ o o
s XX w4 / s
2 (%) 3 . )
- X = -\ oN .=




Question B <
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